TO-92 Plastic-Encapsulate Transistors

BC337(BC338),-16,-25,-40 TRANSISTOR(NPN)
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TO-92

1.COLLECTOR

. 2.BASE rha:ae vojtage
| Veso: BC337 : 50V
' J 3.EMITTER 56338 - 30V
I é ; fi%anﬁl atnrage junctinn temperature range

i .,.__.__I Ty, Tstg: -55C to + 150C

_ _ Vv
Collector-base breakdown voltage Vceo lc= 1001 A, le=0
' - | BC338 30 Vv
| | . _ BC337 | - | 45 V
Collector-emitter breakdown voltage Vceo ic= 10 mA, 1s=0
‘ I BC338 25 \"
~ Emitter-base breakdown voltage. VEBo le= 101 A, Ic=0 5 V
BC337 Vee=45V, le=0
Collector cut-off current - IcBO 0.1 pA
BC338 - Vee= 25V, le=0
> _ BC337 Vee=40V, ls=0
Collector cut-off current | lceo | 0.2 uA
| | | BC338 Vee= 20V, Is=0
Emitter cut-off current leso Ves= 4 V, Ic=0 01 | nA
ﬂ BC337/BC338 100 630
BC337-16/BC338-16 | 100 250
| % 4 hre() Vee= 1V, Ic= 100 mA
DC current gain BC337-25/BC338-25 160 400
S - | | BC337-40/BC338-40 250 | 630
hre(2) Vce= 1V, le= 300 mA 60
Collector-emitter saturation voltage VCEsat lc= 500 mA, le= 50 mA 0.7 \' I
Base-emitter smumtinn voitage VBEsat Ilc= 500 mA, lse= 50 mA 1.2 \'
e Vce=5V, lc=10 mA 2|
Transition frequency ' | fr 210 MHz
f =100MHz
— . - | —




Typical Characteristics

Ve, COLLECTOR-EMITTER VOLTAGE (VOLTS)

6y, TEMPERATURE COEFFICIENTS (mV/°C)
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Ic, COLLECTOR CURRENT: (mA)
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Ig, BASE CURRENT (mA)

Saturation Region

10

100

By for VoEsat L

6yp for VRE

10

100

Ic, COLLECTOR CURRENT (mA)

Temperature Coefficients
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Vg, COLLECTOR-EMITTER VOLTAGE

Active Region — Safe Operating Area
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VR, REVERSE VOLTAGE (VOLTS)
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lc, COLLECTOR CURRENT (AMP)

DC Current Gain



